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INTRODUCTION TO COMPUTER
PROGRAMMING

Paper : CS 101
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The.flgures ln the mnrgln lndlcate
' full manlcs for the questlons,

Answer ang flae qiltestions.

2xLO1.

(a) Differentiate betwgen Application
software and System software.

(b) Give the meaning of the declaration of :

int *ptr ;

What is function prototype ?

What are the use of getghar 0 and

(c)

(d.)

putchar O ?



T

What is the purpo se of break
statement ? Give example.

What is the difference between **a and
a** ifi C-language ?

What is the difference between
structure and union ?

What is the significant of return Wpe
void in a function ?

what is the difference between variable
and constant ?

What is static variable ?

Write a flowchart to find the largest of
three numbers.

Write a C-program to find the smallest
of three numbers.

Find the output of the following code
(Justify your answer) :

#include< stdio. h>
mainfl {

inti=l ;

printf ("o/od", i++ + ++i) ;

)

2

(e)

ff)

(g)

2.

(h)

0

(i)

(a)

(b)

(c)
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3. te a C-program to find the GCD ";LCM of two numbers. .

{

(b) write a program to find the sum of the
series

s ' 
L + xhl + x2 lzt + x3 lst+.. .+ xn lnl, 10+ 10

4. (a) write a C-program to convert the binary
number to decimal number.

(b) wrirte an equivalent if-else statement
for the statement q - A > B ? A : B;

t

(c) Find the output of the following (Justi$/
your answer) :

#include <stdio.h>

void main O {

int i=0, j= _1 
;

if (i>j, i : j)

pr,intf ("He11o") ;

else

printf ("world"l';
10+5+5
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6.

7.

U ai'#, the different tSpes of operators
r in C'lan$rage ? Explain with suitable

example.
.:
What do you me€rn by. call-by;value a$d

, call-by-referenge ? Illustrate with
example. 19+10

'v

(a) What'is stnrcture ? Write aC-program
: to store,,the,shrdent information (I!ame,

RollNo, Course) using strtrcture.
, . l,.' 

I

(b) Write a C-pfogrSm to display a matrix
" "of ordir S*3: : ' 10+10

. t-' . i

f

Write short notes on : (ang four)
5x4

(q)

(b)

(cl

(d.)

(e)

,i ..r..a'i
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